NOTES:

1. GENERAL
11 ALL METRIC DIMENSIONS ARE IN BRACKETS.
12 MARK PART WITH IDNETIFICATION NUMBER
3. MANUFACTURING/SPECIAL REQUIREMENTS
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. TIGHTEN
ALL U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE EQUAL DISTANCE
AND EQUAL FORCE ON EACH LEG OF THE U-BOLT.
4. TEST
D 5 PACKAGING
51 PACKAGING SHALL MEET COMMSCOPE REQUIREMENTS PER DOCUMENT IS-PL-3005.
5.2 PRINTED DOCUMENT TO BE PLACED INSIDE POLYBAG AND THEN IN SHIPPING CONTAINER.
5.3 EXTRA HARDWARE MAYBE SUPPLIED, BAGGED AND SHIPPED.

|

i

< = 'ﬁ::'f :::ﬁ s
©30.0(762]
B
174.0[4420]
\
d "ot @ g—3
A

120.0[3048]

@ 2021 CommScope, Inc. Confidential

REVISIONS

REV.

ECN

DESCRIPTION

BY

DATE

11504

INITIAL RELEASE

RJC

4/9/2021

15087

CHANGE LOCATION OF TIE BACK

2X1005

22/9/2021

[}

COMMSCOPE, INC. OF NORTH CAROLINA

TOLERANCES SAP MATERIAL MASTER
1PLACE X+ 0.1 3PLACE. XXX+ 0.010
2pPLACE XX+ 0.03 ANGLES  + 0.5° MC-KD14M-15-WLL
FINISH MATERIAL
GALV A123 SEE BOM
2 NAME DATE TITLE
. RJC 04/09/21
sg3 |CE MONOPOLE,DBL T-ARM,14' FACE,(15) 120" AP A
5S> |RW|ZX1005 10/27/2021
DENSITY Ibs/in® g, = g W
x o
MASS | 1326.954  Ibs %%E AD |BCROSS 11/03/2021 oA T DOCTENT
VOLUME [13956.452  in? a2t :
#2% |RE |HDA 11/03/2021
SURFACE AREA | 76526524 " | 335 |goy 15087PC 1:48 MC-KD14M-15-WLL
HEIGHT SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
LENGTH C 6 VERSION | STATUS [ REVISION | VERSION | STATUS | REVISION
WIDTH 01 RE B 01 RE B 10F3
2 |




4
NOTES:
(2)
DETAILA
SCALE1:4
ITEM NO. PART NUMBER DESCRIPTION QTY.
1 MC-RM1550-3 12" - 50" OD RINGMOUNT 2
2 MT197.01 36" SINGLE SUPPORT ARM 6
3 GB-05245 5/8" X 2-1/2" GALV BOLTKIT 24
4 MT216.13 CENTER BRACKET 6
5 GUB-5456 5/8" X 4-5/8" X 62" GALV U-BOLT 12
6 mt547174300 PIPE,PLAIN—ENE)C(EIAéIbV 3-1/2" X 174" 6
7 GUB-53560 5/8" X 3-5/8" X 6" GALV U-BOLT 12
8 XP3030.01 CROSSOVER PLATE ©3-1/2"O.D.TO 30
9 GUB-4355 1/2" X 3-5/8" X 5" GALV U-BOLT 60
10 GUB-4352 1/2" X 3" X 5-1/4" GALV U-BOLT 60
1 MT546120120 2.88 OD X .]QO”FYI\I/DAELL X 120" LONG 15
12 XP-R CROSSOVER I%L?T(EDSOUND UpP 1O 6
14 GUB-4240 1/2" X 2-1/2" X 4" GALV U-BOLT 6
17 MT-651 PLAIN END PIPE, 2 3/8" OD X 72" 3

2
CUT TO FIT AS NEEDED
-

@ 2021 CommScope, Inc. Confidential

0

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

MONOPOLE,DBL T-ARM,14' FACE,(15) 120" AP

SIZE SCALE

C | 1:20

DOCUMENT NO.

MC-KD14M-15-WLL

@ =

DRAWING
VERSION STATUS | REVISION
01 RE B

SHEET
20F3



NOTES:

]] ]
Lo priiny =|=’E#PEH°IH; gHI"ﬁ:"Ilfr-'—vér‘=|=’ prny (o
[E -} 4{ -} [} 0 [} [ o -} -} i [}
by £ T b =|:J‘-J.;l;||=-:H»IH;[ %HH:-JH"—?J;IE gy shd S & °

120.0[3048]

[ET priing ‘:|='r?'1'=|H|"|H% %HHF'IFF#‘:I:’ prny (o
b pyd Cr T A= e T S = B b

nilin

i ||

- 174.0([4420]

14'6" FACE MODELS: ¢ 15"-50" POLE

~=———40.8[1035] ——==

" o
(28.5[725))
C

(28.9[735))

49.1]

1247]

ALLOWABLE TIEBACK ANGLE
+15 DEGREES VERTICAL
+25 DEGREES HORIZONTAL

15 DEGREES

25 DEGREES /\

S~

15 DEGREES

36.0

-

-

0 0

DETAILC

SCALE 1:4

25 DEGREES

475]

=

] ]
oo oo

1207

@ 2021 CommScope, Inc. Confidential

DETAIL B
SCALE 1:4

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

MONOPOLE,DBL T-ARM,14' FACE,(15) 120" AP

SIZE

C

SCALE

1:20

DOCUMENT NO.

MC-KD14M-15-WLL

DRAWING

VERSION

STATUS

REVISION

@ =

01

]

RE

B

SHEET
30F3

A



	Sheet1
	Drawing View10
	Drawing View11
	Drawing View12

	Sheet2
	Drawing View1
	Detail View A (1 : 4)

	Sheet3
	Drawing View5
	Drawing View6
	Drawing View7
	Detail View B (1 : 4)
	Detail View C (1 : 4)


